KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

•	WELL COMPLETION FOR	M
WELL	HISTORY - DESCRIPTION OF WELL	& LEASE

WELL HISTORY - DESCRIP	TION OF WELL & LEASE ORIGINAL
Operator: License # 5123	API No. 15 - 15-033-21,370 -000
Name: Pickrell Drilling Company, Inc.	County: Comanche (140 N & 190 W of)
Address: 100 S. Main, Suite 505	SE_NW_NWSec9_Twp32_S. R19_
City/State/Zip: Wichita, Kansas 67202-3738	850 feet from \$ / (N) (circle one) Line of Section
Purchaser:None	feet from 1 (circle one) Line of Section
Operator Contact Person: Larry J. Richardson	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>316</u>) <u>262-8427</u>	(circle one) NE SE (NW) SW
Contractor: Name: Company Tools	Lease Name: Long "P" Well #: 1
License: 5123	Field Name:
Wellsite Geologist: Brad Rine	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 2088 Kelly Bushing: 2093
New Well Re-Entry Workover	Total Depth: 5500 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 702 Feet
Gas ENHR SIGW RECEIVED	Multiple Stage Cementing Collar Used?
X Dry Other (Core, WSW, Expl., Catangles, CORPORATION COMM	
If Workover/Re-entry: Old Well Info as follows: SEP 3 [] 2003	If Alternate II completion, cement circulated from
Operator: 9-30-03	feet depth tow/sx cmt.
Well Name: CONSERVATION DIVISION WELL NAME: WICHITA KS	Pla
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perfConv. to Enhr./SWD	Chloride content 2200 ppm Fluid volume 450 bbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: 0il Producers of Kansas Inc.
9-4-03 9-16-03 9-17-03	Lease Name: #9 Rich SWD License No.: 8061
Spud Date or Date Reached TD Completion Date or	Quarter SE Sec. 22 Twp. 32 S. R. 19 East X West
Recompletion Date Recompletion Date	County: Comanche Docket No.: D-28,178
INSTRUCTIONS: An original and two copies of this form shall be filed with it Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3- nd geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of fily knowledge.	the oil and gas industry have been fully complied with and the statements
Signature: WHOM MT	KCC Office Use ONLY
C.W. Sebits - Rresident 9-29-03	Letter of Confidentiality Attached
Subscribed and sworn to before me this 29th day of September	If Denied, Yes Date:
18 2003.	Wireline Log Received
Challe Comme	Geologist Report Received
rotally Fublic.	UIC Distribution
	ALENIS

Operator Name: Pic	<u>ckrell Dril</u>	ling Co	o. Inc.	Leas	se Name:_	Long "P'	1	_ Well #: <u>_1</u> _	•	
Sec. 9 Twp. 32	2 s. r. <u>19</u>	Eas	t⊹⊠West	Cour	nty:	Comanch	ne			
INSTRUCTIONS: Shortested, time tool open a temperature, fluid recovered temperature. Shortested to the tool of the	and closed, flowin very, and flow rate	g and shutes if gas to	i-in pressures surface test,	, whether along with	shut-in pre	essure reached	static level, hydro	static pressur	es, bottom	hole
Drill Stem Tests Taken (Attach Additional Sh	neets)	[X] Y	es 🗌 No	s .	∑ L	og Formatio	on (Top), Depth a	nd Datum	Sa	ample
Samples Sent to Geolo	gical Survey	X Y	es 🗌 No		Наер		4320(-2227) Top	Da	atum
Cores Taken Y Electric Log Run (Submit Copy)		44	Toronto							
List All E. Logs Run: Induction Neutron/Densit Sonic	ty	· · ·		·	Alt Pawn Fort	Porosity ee Scott okee Sh St L	5027(-2934 5064(-2971 5099(-3006 5109(-3016 5181(-3088 5462(-3369	} }		
		Repo		G RECORD		w Used ermediate, product	ion. etc.			
Purpose of String	Size Hole Drilled	, Siz	re Casing t (In O.D.)); W		Setting Depth	Type of Cement	# Sacjs Used		d Percent litives
Conductor Csg.	17 1/2"	13 3/8		48#		2251	Class A	300sx	2%gel,	3%CC
Surface Csg.	12 1/4"	8 5/8	3"	24#	#	702'	70-30 poz	350sx	2%gel,	
			·		the transfer			<u> </u>		
			ADDITIONA	L CEMEN	TING / SQL	JEEZE RECORD	· · · · · · · · · · · · · · · · · · ·			
Purpose: P&A Perforate	Depth Top Bottom	Туре	of Cement	#Sac	#Sacks Used		Type and Po	Type and Percent Additives		
Protect Casing Plug Back TD Plug Off Zone		60-40	poz	1109	SX	60-40 poz, 6% gel				
Shots Per Foot PERFORATION RECO Specify Footage of					e		eture, Shot, Cement anount and Kind of Ma		rd .	Depth
·	<u> </u>	<u>-</u>	· · · · · · · · · · · · · · · · · · ·		÷					
TUBING RECORD	Size	Set At	V.	Packer	At	Liner Run	Yes X No			
Date of First, Resumerd P	roduction, SWD or E	Enhr.	Producing Me	ethod	Flowing	g Pumpir	ig 🔲 Gas Lift	Oth	er. (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er Bt	ols. G	as-Oil Ratio	<u>-</u>	Gravity_
Disposition of Gas	METHOD OF (COMPLETIC)N		· · · · · · · · · · · · · · · · · · ·	Production Interv	val			
Vented Sold	Used on Lease it ACO-18.)		Open Hole	٠ ب	erf. 🔲 C	Dually Comp.	Commingled			

ALLIED CEMENTING CO., IN

Federal Tax I.D.# 48-0727860

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Med. Lodge, KS

DATE 9-17-03 SEC 9 TWP RANGE 19 W	CALLED ON LOCATION	STAM 9 PAM
LEASE (Ong WELL# P-) LOCATION COLD	water Kremee	COUNTY STATE
OLD OR NEW (Circle one) 2 w, 1/2n, 2u		
		<u></u>
CONTRACTOR Pickrell Drilling	OWNER Pickful	Drilling
TYPE OF JOB Oho		•
HOLE SIZE 778 T.D. 35500	CEMENT AMOUNT ORDERED 110	0101611901
CASING SIZE DEPTH	AMOUNT ORDERED IIO	5x (a), 4), 6 10 Get
TUBING SIZE DEPTH DRILL PIPE 4'2" DEPTH 720'	<u> </u>	
TOOL DEPTH		
PRES. MAX MINIMUM 50	COMMON	@ 7.15 471.90
MEAS. LINE SHOE JOINT	POZMIX 4/4	@ 3,80 /67.20
CEMENT LEFT IN CSG. RECEIVE	D GEL	_@ 10,00 60,00
PERFS. KANSAS CORPORATION C	COMMISSIDIO RIDE	
DISPLACEMENT SEP 3 0 2	003	
EQUIPMENT 9-70-0	<u> </u>	
CONSERVATION DIV	'ISION	@
PUMP TRUCK CEMENTER Wile Kuckur		
#170 HELPER TIME J.D.	HANDLING //6	@ 1,15 133,40
BULK TRUCK	MILEAGE 45 x.05	
#364 DRIVER B: 11 Mca 200 BULK TRUCK		
# DRIVER		TOTAL 1093.50
The state of the s		
REMARKS:	SERV	TCF.
	SER	·
8 AM 13 Plug 780 load hold with much mix 50sx	DEPTH OF JOB 720	
@ 13.78 weight 808 Disp. With 6/2 Hold Fresh 200 8 Am 2 M Plug 330 load hade With mud, mix 25 sx	PLIMPTRUCK CHARGE	1/2500
D 13.8 weight. 840 Disp. with 21/2 bbl fresh bo.	EXTRA FOOTAGE	<u>475.00</u>
12 Am 3rd Plug 40's load hale with mus. Mix 105x		@ 3,5D 157.5C
@13.8 might. Disp. 14bbl. 930 mix losx mous		@23.00 23.00
hole 93Am Mix 155x Rathole 935Am.		@
		@
$\Omega + \Omega = \Omega$		TOTAL 655.50
CHARGE TO: Pickrell Drilling		
STREET	FLOAT EQ	TIDMENT
	redat eq	OIFMENT
CITYSTATEZIP		
		@ @
	 	@
To Allied Cementing Co., Inc.		\\ \\
You are hereby requested to rent cementing equipment		TOTAL
and furnish computer and halner to assist aumer or		TOTAL

15-033-21370-0000

ALLIED CEMENTING CO., INC. 12943 Federal Tax I.D.# 48-0727860 P.O. BOX 31 RUSSELL, KANSAS 67665 Federal Tax I.D.# 48-0727860 SERVICE POINT: Medicing h.D.

AT TO P.O. BOX 31 RUSSELL, KANSAS 67665

DATE 7503 9 325 19W 9	LLED OUT ON LOCATION JOB START JOB FINISH
LEASE TO AG WELL #P-1 LOCATION COlde	LATER Kremce County STATE COMMENCE KS
OLD OR NEW (Circle one) 2W 1/2W 2	WS/nTO
CONTRACTOR PICKFULL Drig Co.	OWNER Pickfell Dr/g.Co.
TYPE OF JOB SUPFACE	<i>—</i>
HOLE SIZE 12 1/4 T.D. 707	CEMENT
CASING SIZE 85/8 DEPTH 703	AMOUNT ORDERED 350 5 x 70 1 30 17
TUBING SIZE DEPTH DRILL PIPE 41/2 DEPTH 202	3% CC /4# F/0-3eal
TOOL DEPTH	·
PRES. MAX 350 PS7 MINIMUM	COMMON 245 A @ 7.15 1751.75
MEAS. LINE SHOE JOINT 15FC	POZMIX 105 @ 3,80 399.00
CEMENT LEFT IN CSG. 15 PT	GEL <u>6 @ 10.00 60.00</u>
PERES	@#PSD### // @ 30.00 770 000
DISPLACEMENT Fresh Water 43850	CORPORATION COMMISSION @
	SEP 3 0 2003 @
DQOH NIEMI	9-30-03
PLIMPTRICK CEMENTER D CO	NSERVATION DIVISION @
TOWN THOOK CENTERVIEW	WICHITA, KS @
#202 HELPER Owlay sew. BULK TRUCK	HANDLING 367 @ 1115 422.05
	MILEAGE 45 x . 05 x 367 825.75
#344 DRIVER STEVE T. BULK TRUCK	
# DRIVER	TOTAL 3788,55
REMARKS:	SERVICE
REMARKS:	SERVICE
	DEPTH OF JOB 763
PiPron Bollom Breakeire	DEPTH OF JOB 703 PUMP TRUCK CHARGE 0-300' 520.00
Pircon Bollom Breakere Pump 3:50sx 70:30:2+3% CC + 14# Flo-Scal Kelease flog Displace w/ Fresh Water	DEPTH OF JOB 7/3 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 4/03' @ ,50 201.50 MILEAGE 4/5 @ 3.50 157.50
Pircon Bollom Breakere Pump 3:50sx 70:30:2+3% CC + 14# Flo-Scal Kelease flog Displace w/ Fresh Water	DEPTH OF JOB 7/3 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 4/03' @ ,50 201.50 MILEAGE 4/5 @ 3.50 157.50
Pircon Bollom Breakeire Pump 3:50sx 70:30:2+396 CC + 14# Flo-Seal Kelease flog Displace w/ Fresh water	DEPTH OF JOB 7/3 PUMP TRUCK CHARGE 0-300' 520,00 EXTRA FOOTAGE 403' @ ,50 201.50 MILEAGE 45 @ 3,50 157.50
Pircon Bollom Breakcire Pump 3:50sx 70:30:2+396 CC + 1/4# Flo-Seal Release flog Displace w/ Fresh water There in at 43BB/s, Cement	DEPTH OF JOB 703 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 403' @ 50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBBET @100.00 100.00
Pircon Bollom Breakcire Pump 3:50sx 70:30:2+396 CC + 1/4# Flo-Seal Release flog Displace w/ Fresh water There in at 43BB/s, Cement	DEPTH OF JOB 7/3 PUMP TRUCK CHARGE 0-300' 520,00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBB @100.00 100.00 @
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Soul Kelease flog Displace w/ Fresh water There in at 438B/s, Cement Oid Circ	DEPTH OF JOB 7/3 PUMP TRUCK CHARGE 0-300' 520,00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBB @100.00 100.00 @
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Soul Kelease flog Displace w/ Fresh water There in at 438B/s, Cement Oid Circ	DEPTH OF JOB 7/3 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 4/03' @ ,50 201.50 MILEAGE 4/5 @ 3.50 157.50 PLUG RUBBET @100.00 100.00
Pircon Bollom Breakcine Pump 3:50sx 78:30:2+396 CC + 1/4# F/o-Seal Kelease flog Displace all Fresh water There is at 438B/s, Cement Oid Cinc Dick Nell DNg 60.	DEPTH OF JOB 703 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBB @ 000.00 100.00 @ TOTAL 979.00
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Soul Kelease flog Displace w/ Fresh water There in at 438B/s, Cement Oid Circ	DEPTH OF JOB 7/3 PUMP TRUCK CHARGE 0-300' 520,00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBB @100.00 100.00 @
Pircon Bollom Breakcine Pump 3:50sx 78:30:2+396 CC + 1/4# F/o-Seal Kelease flog Displace all Fresh water There is at 438B/s, Cement Oid Cinc Dick Nell DNg 60.	DEPTH OF JOB 703 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBB @ 000.00 100.00 @ TOTAL 979.00
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Seal Kelease floe Displace w/ Fresh water There in at 438Bls, Cement Oid Cinc CHARGE TO: Pick Nell DNg GO. STREET	DEPTH OF JOB 73 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBBET @100.00 100.00 @ TOTAL 979.00 FLOAT EQUIPMENT
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Seal Kelease floe Displace w/ Fresh water There in at 438Bls, Cement Oid Cinc CHARGE TO: Pick Nell DNg GO. STREET	DEPTH OF JOB 703 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBB @ 000.00 100.00 @ TOTAL 979.00
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Seal Kelease floe Displace w/ Fresh water There in at 438Bls, Cement Oid Cinc CHARGE TO: Pick Nell DNg GO. STREET	DEPTH OF JOB 73 PUMP TRUCK CHARGE 0-300' 520,00 EXTRA FOOTAGE 403' @ ,50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBBEN @100.00 100.00 @ TOTAL 779.00 **TOTAL 779.00 **TOTAL 779.00 **TOTAL 779.00 **TOTAL 779.00
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Seal Kelease floe Displace w/ Fresh water There in at 438Bls, Cement Oid Cinc CHARGE TO: Pick Nell DNg GO. STREET	DEPTH OF JOB 753 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 403' @ ,50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBB @ 000.00 100.00 TOTAL 979.00 FLOAT EQUIPMENT BOSKET @ 180.00 180.00 @
Pircon Bollom Breakcite Pump 3:50sx 70:30:2+39 CC + 1/4# Flo-Seal Kelease floe Displace w/ Fresh water There in at 438Bls, Cement Oid Cinc CHARGE TO: Pick Nell DNg GO. STREET	DEPTH OF JOB 73 PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 403' @ .50 201.50 MILEAGE 45 @ 3.50 157.50 PLUG RUBBET @100.00 100.00 TOTAL 979.00 FLOAT EQUIPMENT BOSKET @180.00 180.00 @ @

ALLIED CEMENTING CO., INC. 12942 Federal Tax I.D.# 48-0727860

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

and furnish cementer and helper to assist owner or

15-033-21370-0000

Medicine L.D.C.

<u> </u>					
DATE 9-5-03 SEC.	TWP. RANGE 1961	CALLED OUT 2:00 A-M.	ON LOCATION 4:00 AM	JOB START O'. 05 AM	
LEASE long P WELL#	LOCATION CA	Oldwater Kr	mee	COUNTY	STATE
OLD OR NEW (Circle one)		2N2W 5/:n			
<u> </u>			.)		
CONTRACTOR PICK	rell Drig Co	o. OWNER T.	ckrell 6	My G	O
	705	`			
HOLE SIZE 1712	T.D. 240	CEMENT		λ.	-01
CASING SIZE 135/8	DEPTH 235		RDERED 300.	SX H+	3%CC+
TUBING SIZE	DEPTH	2% Ge	_/		
DRILL PIPE U 1/2	DEPTH 240				
TOOL	DEPTH		71m 1	0715	-1115 M
PRES. MAX MEAS. LINE	MINIMUM SHOE JOINT 15 F	COMMON FOZMIX	300 A	@ <u>///3</u> @	2145.00
CEMENT LEFT IN CSG. /		REGENED		@ 10,00	50.00
PERES	, i	KANSAS CORPORATIONIZOTATES	NON 11		330,00
DISPLACEMENT FC	A Water 35B	SCED A A AGA	nore /	@ <u>50700</u> @	<u> </u>
FOI	WOMEN'T	~~2FL 3 1 5003		@	
EQU	JIPMENT	CONSERVATION DIVISION		. @	
		WICHITA, KS		@	
<u>-</u>	ER David W.			@	
#302 HELPER	Dwayne W	HAMDLING_	316	@ 1,15	363.40
BULK TRUCK #359 DRIVER	0 -11 11	MKZHAGE_	44 2.05	316	1095,21
#359 DRIVER BULK TRUCK	D.11 /1/	2 ⁿ		•	
# DRIVER	· /	11		TOTAL	3583.6
# DRIVER		-t . (K)	//	101.12	
		New 29	/ /		
RE	MARKS: $\left(\begin{array}{c} \downarrow \\ \downarrow \end{array}\right)$	` (a)	SERVIC	CE	
		235 X		:	<u> </u>
rike on BOTTON	n Break Circ	DEPTH OF JO	DB 235		
Pump 3005x	4+3%cc+2%	PUMP TRUC			520.00
Release Pluy		EXTRA FOOT	TAGE	@	
Water Stow	RETE SHUTI'M		4		154.00
	ement in Pite	PLUG 60	oden		70,00
CEMENT UEL C	ile			. @	
·					
0 1/2	11: 0.1			TOTAL	744.00
CHARGE TO: PICKO	211 DYG CO.	·			
STREET	,		FLOAT EQUI	PMENT	
		12 3/0			
CITYST	ATEZIP	10/0	• • • • • • • • • • • • • • • • • • • •	0 100 00	75000
		1-COR	<u>- / </u>		250.00
				_@ @	
					· _
	_			- @ - @	
To Allied Cementing Co.,		•			
You are hereby requested to		nent		TOTAL	250,00
and furnish cementer and l	selper to assist owner or			TOTAL	<u> </u>